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COAST & SEA



Food & biomass pyramids

Fill in the gaps on the following food chain:


Use the data below to create the following biomass pyramid:

Draw a pyramid of biomass based to the ratios below where 1 square = 10 kg  
Clue: 
There are 1000 grams in a kg


There are 10,000 grams in 10 kg 

Phytoplankton 


Zooplankton 


Fish and shellfish

Human

No. organisms 1,200, 000 

No. organisms 500, 000

No. organisms 300

No. organisms 1 
Weight per organism 0.25 gram
Weight per organism 0.5 grams
Weight per organism 300 grams
Weight per organism 80 kg   
Primary Consumer


Trophic level 2 (T2)





Zooplankton 
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Trophic level 3 (T3)











Tertiary consumer 


Trophic level 4 (T4) 
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Phytoplankton 








